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oa4F 2159 do] | A5+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31l.4cm 10 cm
(4) 12.56 cm 4cm
(5 18.84 cm 6 cm

® 3.141 @ 3.1416 ® 3.142

®)3.14 ® 3.1

21.98 = 7, 37.68 = 12, 31.4 = 10,
12.56 =+ 4, 18.84 + 6

w= A4 At Eo] 314 7} Huth
w2t A2l Zole] et Aol vk
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f2 50.24cm

(2F)=(*1F)x3.14
16 x 3.14 = 50.24( cm)
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@ 7:3=3:7 ® 10:5=5:1

D 2:6=4:8

® 3:6=13:16

@3:526:10

3:5=6:10

9] F =3x10=30
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12. o5 T %ol 3.5 Heh & A2 o= AdU7?

@® 13.86 +4.2 @25.92 +7.2 ® 25.16+7.4

@ 9.36+3.6 ® 3.375+1.25

B

D 13.86 +4.2 =138.6 42 = 3.3
@ 25.92 =72 =259.2+72=36
® 25.16 + 7.4 =251.6 + 74 = 3.4
@ 9.36 + 3.6 =93.6+36=26

® 3.375+1.25=3375+ 125 = 2.7




13. thg F A0l Fol M 2 2L o= AU

@ 110+44 © 104+2.6

© 19.38+5.7 ® 108.45+2.41
> E:
> 3EE! @

~&B

@ 110+ 4.4 = 1100 + 44 = 25

© 104+2.6 = 1040 + 26 = 40

© 19.38+5.7 = 193.8 + 57 = 3.4

@ 108.45+2.41 = 10845 + 241 = 45
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2 flellA 3urF] F Y 22,137 emE A AFHTh

() =(AA 2= A=)+ (F2 2)
=22.137 + 3 = 7.379(cm)

(9F) = (AE) x3.14

7.379 = (A§) x3.14

(AE) = 7.379 + 3.14 = 2.35( cm)
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>
[> ®EH: 3584cm

(A7 7hw)= (el o] 9%)
3x2x3.14+417=18.84 + 17 = 35.84(cm)
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@ 1§cm @gcm
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[ ]+352=153.--0.35
[ ]=35.2x15.3 4 0.35 = 538.56 + 0.35 = 538.91

utebA] v 27| Al4bshaA
538.91 = 53.8 = 10---0.91 o|2& YHZ]= 0.91 YUY}
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